
Hardtop Gazebo 

10'x12'

With Double Roof

Customer Service:contactus24service@gmail.com
Phone:(951) 213-4742



B2

M1K5B4T2
K2B3

V3
M2

A2

L3

A1
C2

A1

A2

C2

M2

L4
E2

C2

J1
L2

L1

E1

H2

N

N1
V5

O1

C2

J3 J2 O2 H2

B2

NJ2

B4

F4V4

O1 N1

H2
B3

L1
H2 M1

O2

B2

J3

N1

E1

K1 B1

F3

K1
L4

L3
H2

L2

H2

G1



1

2



3

4



3



2x

2x

12x
M6x20

4x

2x

FF

S

B2

B1

T1

B2

B2

B2

B2

B1

B1

FF

FF

FF

FF

S

S

S

S

T1

T1

STEP-1



2x

2x

16x
M6x20

4x

2x

4x

FF

V1

T2

S

B4

B3

FF

FF

FF

FF

V1 V1

V1

V1

V1

T2

T2

S

S

S

S

B3

B4

B4 B4

B4

B4

STEP-2



4x

4x

28x
M6x20

6x

FF

K1

K2

V2

K1K1

K2 K2

V2 V2V2

V2
FF

FF

FF

FF

B3

B2 B1

B4

STEP-3



2x

2x

16x
M6x20

4x

4x

FF

C2

C1

A2

A1
A1

A1

A2

A2

C1

C1

C2

C2

FF

FF

STEP-4



2x

20x
M6x20

8x
M6x40

2x

FFQQ

D1

D2

QQ FF

D1

D1

D2

D2

FF

A1

A1

A2

A2

B3

B3

B4

B4

STEP-5



2x

2x

32x
M6x20

4x

8x
M6x40

FFQQ

E1

E2

V3

E1

E1

E1

E2
E2

E2

V3

V3

V3

V3

QQ

QQ

A1
A2

FF

FF
FF

FF

A1

A2

B4

B4

B3

B2

B1

B1

B2

B3
V3

STEP-6



2x

2x

8x
M6x20

FF

J3

J2

J3

J3

J3 J2

J2

J2

FF

FF

B3
B4

B3

B3

B4

B4

STEP-7



2x

2x

28x
M6x20

2x

2x

4x

FF

O1

V6

V5

V4

O2

O1

O1

O1

O2

O2

O2

V4

V4

V5

V5

V6

V6 V6

FF

FF
FF

FFFF

FF

STEP-8



8x
M6x20

8x
M6x40

8x
M6

8x
M6

FFDD BB QQ

FF

QQ

BBDD

O1

J3 J2

O2

J2

O1

J3

O2

STEP-9



1x

1x

1x

4x
M6x20

FF

FF

G1

F4

F3

F3

F4

F4

F4
F3

F3

G1

STEP-10



2x
M6x20

FF

FF

O1

F3

F4
O2

O1

O2

STEP-11



6x

12x
M6x55

12x
M6x20

12x
M6

12x
M6

FF JJBB

DD

H2

H2

H2

H2

H2

H2

H2

H2

H2
H2

DD

JJ

FF

BB

STEP-12



6x
M6x20

3x

1x

FF

P

J1

FF FF

J1

J1
P

H2

H2

H2

H2

H2

H2
H2

H2

STEP-13



16x
M6x20

8x

FF

N
FF

FF

N

N

N

H2
H2

STEP-14



28x
M6x20

2x

2x

8x

FF

N1

M1M1

M2

FF

FF

FF

N1

N1

N1N1
N1

N1

N1

N1

N1

N1

M2

M2

M1

M1

N1

N

H2

FF

STEP-15



16x
M6x20

2x

2x

2x

2x

FF

L4

L1

L2

L3

L1

L1

L2

L2

L3
L3

L4

L4

FF FF

FF

H2

M2

M1

STEP-16



4x

2x

1x

3x
M6x40

QQ

R1

P1

P2

P1
P1

P1

P1

P1
P1

P2

P2

P2

P2

R1

QQ

R1

STEP-17



2x
M6x40

2x

1x

QQ

R2

P1

P1

P1

P1

P1

P1

R2

R2

QQ QQ

STEP-17



3x
M6x40

4x

2x

1x

QQ

R1

P2

P1

QQ

P1

P1

P2
P2

R1 R1

STEP-18



6x

24x
M6x20

FF

Q

FF

Q
QQ

STEP-19



4x

8x
M6x20

FF

U

U

FF

STEP-20



8x
D8X180

8x
M6x80

PPUU

UU
UU

PPPP

STEP-21



STOP!STOP!

Call us First！
DO NOT RETURN TO STORE
For immediate help with assembly or product information 

call our number:
(951) 213-4742

Or E-mail:
Contactus24service@gmail.com

Our staff is ready to provide assistance 
M-F 9:00 AM to 5:00 PM EST


